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EUE - A / SECTION - A

a%f"S WIT / Objective Type Questions

UyT WS4 1§ 80 A% & Wedw Uy & @y 9w faweq fFv no # foad @

v# Wel &1 H9H FRT 94 U WEt fawew F oMR T 9T FafEAa w1 @

40 ¥ & & FET T4 40 x 1 = 40

Question Nos. 1 to 80 have four options each, out of which only one is correct.

Mark your selected option on the OMR sheet. Answer any 40 questions.

40 x 1 = 40

1.~ T | @ = wpfas e d 2 2

L 2 A
(a) AR ®) B
(O LghT ™ p) el
Which of the following is r;nt a‘pngl;.rﬁfdiaaﬂér -?
(A) .Tsunami - | % Flood
"~ (C) Earthquake | IBI Epidemic
y
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Which natural disaster did Bihar face in the year 1934 ?
(A) Drought (B) Flood

(C) Earthquake (D) Tsunami

Fos WaY e yadig 98 | gafua & 2

(A) -2 : (B) HH-3

(€©) -4 (D) -5

Kachchh region is related to which seismic belt ?

(A) - Zone-2 : (B) Zone-3

(C) Zone-4 (D) Zone-5

HEATR @t § e # wed &

(A)  HHET (B)  TwhaTd

J(C)  gATH (D) qEIEA

The vibration in the bottom of the ocean is called

(A) Earthquake (B) Cyclone

(C) Tsunami (D) Landslide

I 1105-(22/30) I : Page 6 of 48




€2 ' d |

&)  FEE ® e &
© Fewr D)  geEREt -, ;

; "
Which instrument is used to locate the peoplé buried under the

rubble ?
(A) Telescope (B) Infrared camera
(C)  Helicopter (D) Microscope .

qRd &1 SiagE @91 H TS Hd g3 ?

BA) 1946 _——— \ (B) 1947
"\ /

(C) 19498 TS (D) 1949

S ____,.F"

When was the Constituent Assembly of India formed ?

(A) 1946 - ®) 1947
(C) 1948 . (D) 1949
U=pHT el @ Tgdia 97 T 2

(A) drE @ faeit
(© g (D) Afaws!
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Nkrumah was elected the President of which country ?
(A) Poland (B) Chile

(C]  Ghana (D) Mexico

USTHITaS It = ArEar SR IHT fae wer fEar ST &
(A)  T=Hfa ERT (B)  WHHHAT gRT
© Fraraw smam g (D) EEF FRT

The recognition and symbol of political parties are given by

(A)  President (B)  Prime Minister
(C)  Election Commission (D)  Parliament

el IS 959 F F ©

(A)  @IeTaT - e (B) SHISHME - B
(C) e - ARG | (D) I - ETEST

The centre of Hooghly industrial region is
(A) Kolkata - Rishra - (B) Kolkata - Konnagar

(C) Kolkata - Medinipur (D) Kolkata - Howrah
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11.

12.

[111]
TR 1 Had B A S ®H & 2

(A) IWITE (B) I-UE Hmfq W

Which is the smallest railway zone in India ?

(A) Northern railways (B) North-east Frontier railways

(C) South-eastern railways (D) East coastal railways

wieer favie snfam & wel fa & 2

ufe= =
(A) _'f‘*ﬂ‘m @ /
©) (D) s

Where is Falta Special Economic Zone located ?
(A) Bihar (B) West Bengal
(C) Kerala (D) Odisha :

gA 1 YEen die gda wel s g3 2
(A) Teeelt (B)  hiershrel

© = (D) 9=
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Where was the first cement plant established in India ?

(A)  Delhi &) L Rolkata
(€)  Mumbai | (ﬁ] Chennai
YA o1 |fqay fey e & +& S & 2
(A) SRR (BY SR
(c) TemE (D) =TS
Which city is known as Birmingham of India ?
(A) Bokaro . - (B) Jamshedpur
(C) Bhilai (D) Rewari
ey § g S SEve fHE § 2
(A)  =HiFgew | B) UiferEH
(C) ‘H‘I?Tﬁ'ﬁ'? T P THE |
Which of the following is a fossil fuel ?

(A) Coal (B) Petroleum

(C) Natural Gas (D) All of these

[111)
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15 mqﬁmﬂﬂ“mﬁﬁ? I~

(A) 1970 . y 1973

X )
G LT ¢ (D) 1978
When was the Tiger Project started ?
(4) 1970 B) 1973
FHISOT I 3279 Faf uq & ? ' £
(A) TS (B) I ORT
(C) ITETE (D) HEH
= Where is Kaziranga National Park located ?
ot (A) Rajasthan (B) Uttar Pradesh
1 ¢ - e B §
| (C)  Uttarakhand g:a] Assam L N
| . e oRs 1T ] e 3L
r NN < 3
( 17. e dasm g U e ?
(A) & SHeIE gt H{Bj R W
: :
i'* (C) #ARES

gfe =rat
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Which of the following is a regional party ?
(A) Lok Janshakti Party
(B) Bahujan Samaj Party

(C) Jharkhand Mukti Morcha

(D) Ehﬂ_..ll'ﬂ[j}Fﬂ Janata Party
18. @t fpm wreiHitas g 1 g faer € 2

(A)  FEEERT T2t (B) ATSA Sl we
il SR 9Te (D) W i 9

(C)
Bungalow is the election symbol of which political party "

¢ (A) Samajwadi Party (B) Rashtriya Janta Dal

(D) Communist Party of India

(C) Lok Janshakti Party

aﬁﬂmﬂqﬁwﬁmmm#mﬁm#?

19.

faere, IOT W29, TG WRW

(A)

(B) ATHAATE, FTA, FAEH

() ufvaw @mer, 3T 9e9, 9o

(D) IR, HERT, WA ua9l : 3

i 1 lOS-[::fam'i Page 12 of 48




- dE. P T TR
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(B

What is the term of Zilla Parishad ?

(A) 4 years (B) S years
(C) 6 years (D) 2 years
22, ti'qm?ﬁmwnaﬁaﬁqama?ﬁgézﬁ ?
" @) fer (B)
(C) HAle® (D) HERTZ

Where was the Panchayati Raj System started ?

(A) Bihar (B) Rajasthan

(C) Karnataka (D)

Maharashtra
-, ""\
23.  UH YEHE F QYT B BT & p)
(A) qree (B) THEUR
(C)  #HI® (D) gy

Who is the head of Gram Panchayat ?

(A) Parshad EE] Mayor
(C) Commissioner (D) Mukhiya
T meiew




TSI # fyaf '
mmt? N—

JA) It
(B) sy
ST (D)
o

Who appoints the Governor ?

(A) President
(B) Prime Minister

(C) Vice- i
P‘l'ESId{‘.‘r‘-Il (D) Chief Minister

o & fawg & fa uRa =1 faew dvya G@ 200 7e wmue
a1 e ? \./

(A) = WEE (B) U . HA. FEHA FAH
(C) HeagH-3TT-TH (D)  HETEHT Tindt
“India’s development is not possible without the development of

Bihar.” Whose statement is this ?

(A) Rajendra Prasad (B) A. P. J. Abdul Kalam

(D) Mahatma Gandhi

1 105-(22/30) l Page 15 of 48
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a
@ SRA W AT STENT w1 NS FA AT 2 /
(A) 15 AH, 1950 (B) 15 |4, 1951

(She=r 15 WS, 1950 (D) 15 319+, 1951

When was the Planning Commission formed in India ?

(A) 15th March, 1950 (B) 15th March, 1951

() 15th April, 1950 (D)  15th April, 1951

__ 3-?'\ o w1 [T HTAT e T T W7 e 33 A1 ?
'\-_h_,_.-"/ !

Jsy  TESR - ® FEd
(D) =t

(c)  drEt

Development of agriculture was the main objective of which Five-Yeal

Plan ? .
(A) First (B) Second
(C) Third (D) Fift.h

s Dyaa fgea FaE @ S e 8 @ e gRT A1 ST € 2

A) WTO (B) WHO

(D) ILO

[_flt__iﬁ-t::::}a; Page 16 of 4
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| 111
Human Development Report is published by which of the following ?

(A) WTO (B) WHO

(C)  UNDP e O s
WA e A T R e s gy S e a2
(A) TR faw B) - 3TzE fawrdl aad

@ % F9R P (D) TERER BE

Which Prime Minister released India’s First Human Development

Report ?
(A) Manmohan Singh (B) Atal Bihari Vajpayee
(C) Inder Kumar Gujral (D) Jawaharlal Nehru

30. TRIEl % Hosh i 9won fHEE & 2
S

(A) TEET T B) =
(©) HERE I M) TR

Who gave the concept of vicious circle of poverty ?

(A) Simon Kuznets B Keynes

(C) Alfred Marshall (D) Ragnar Nurkse

[1105-22/30) | Page.17 of 48
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a1, wiEa = gaifaes ufa =ife a1 aen o w2

; \. 4B) TR \/

(€) HERE (D)  FAE®

(A) O

Which state of India has the highest per capita income ?

(A) Punj ab (B) Goa

(C)  Maharashtra (D) Karnataka

C;}ﬂmﬁ%@hﬁ&ﬁama&ﬁwaﬁwmﬁ% ?

N

(a) ¥fa =afw s (B) hwa I A

w () U ™ (D) T A EE AR

What is the total amount of income earned in a country during the

year called ?
tA) Per capita income (B) Average income

(C) National income _ (D) None of these

33  FFEger W9 U Hi 6EA ® fomar 2

T -

(ay oS 2d @) s A

™

e @ s TWEA
l EDSwm_n}aus | 7 Page 18 of
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Who repealed the Vernacular Press Act ?

(A)  Lord Lytton B) © Lord Ripon

() Lm;d Dalhousie (D)  Lord Irwin

34  ©Y H FegHd TN & 991 waarar ?

(A) Hievifas (B) Hvita=

(C) HEERT = (D) 9 U ®I3 F&T

What was minority party called in Russia ?

(A)  Bolshevik . (B) Menshevik
(C)  Proletariat 3 (D) None of these
E /ﬁvaq’lf:m T TP Fat ot 2
(a) I fagaam uB) Bl faaeaam
(C) ==l (D) &A% 7

Where was Bao Dai’s government ?
(A) North Vietnam iB} South Vietnam

(C) Cambodia _ (D) Hanoi

| 1105-122;3;1 Page 19 of 48




36 I a7 wfeelt Fmesmr @ usletor e g 2
(A) 1960 (B) 1965
(C) 1975 (D) 1976

When was the unification of North and South Vietnam held ?
(A) 1960 (B) 1965
(€) 1975 (D) 1976

r ;?ff-ﬁﬁmffﬁﬁm‘ﬂ?ﬁfmm#zzﬁﬁaﬂqaﬁwmqﬁgaﬂ ?

(af AT / (B) IS W /
© \ Fexegeen @) ¥ J |t
Who of the following contributed to the completion of unification of
Italy ?
(A)  Mazzini (B)  Count Cavour
(C) Victor Emmanuel (D) All of them :
38, #iier fra 3w ARt T 2 |
(A) W9 (B)  zeet _4
) St . (D)  Sdtfegar '
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Hegel was the philosopher of which country ?

(A) Franceé (B) Italy
(C}) Germany (D) Austria
"\ L4 -
STHA TS =1 1 6y feas Rean a1 2
(A)  ®E XV (B) - FA9eER F=MR
(C) A9ifEE= m (D) o &

Who had created the state of Rhine in Germany ?
(A) Louis XVIII . (B) Napoleon Bonaparte
(C) Napoleon III (D) Bismarck
G Hieern feag #it gwon fEw w3 5 2

((A)  FOEE Heen HEm (B) WS W% 6

{9

(C)  JUUF §Y (D) sniEaH

L 1 105~::2;;Eﬂ
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Which organization announced International Women's Day 7

(A) International Women Commission

(B) United Nations Organisation

(C) European Union

(D) ASEAN

ST | G H w gy g IR 2

(A)  afEAer Sy | @  E=ER
(c) sl (D) A

To which country is Aung San Suu Kyi related ?

(A)  South Africa (B) Myanmar
(C)  SriLanka (D) ° Bhutan
TR T G F G T &8 2 >
(A4) 1732 () 1885

() 1890 (D) 1945

-| 1105-(22/30) | Page 22 of
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 Sifefaar J sHEeT w1 e wRen 9 9 2

When was the Indian National Congress established ?

(A) 1732 : (B) 1885
(C) 1890 (D) 1945
—
JA) U @ e | g9fg (B) @ & siEd ° gfe
(C) 9wt wiEa ° i (D) TR W HrE A
What was the main cause of mass struggle in Bolivia ?
(A) Water price hike
(B) Increase in the price of food grains
(C) Petrol price hike
(D) None of these

fry 8 @ frg 93 F UG-Ud SHEEER 0E U § 999 % [ SO 9IS

A% &l 2
(A) BEA _ (B 379 "R afEeT
(C) HUSI (D) g e
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Which of the following papers changed its language overnight to av

the Vernacular Press Act ?
(A) Harijan (B) Amrita Bazar Patrika
(C) Maratha (D) Young India

4‘53 faa F gauyy qEuT FT IEATF FET 85 7

o

(A) == 1 —(B) HRA
(C) ST @) e
Where did printing start [irst in the world ?

(A) China (B) India
(C) Japan (l?l Britain

a6. Fr=1 9 @ feg wiem ® st @ efagfa afer s s st e @ 2

' N
(A) FI2T G iB] fag=r ¥4
(c) Rar-Si-s=a g (D)  ©ET FEe

i 1105-aa/ aql Page 24 of
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s compensation

Who implemented the ‘New Deal’ in Americ;i;._?f-“' A

. (A)  Abraham Lincoln

(é] Haratl Obeme

L}

48, S ¥ T FEw e @ 3
a) & s

(C) Wm %

I‘II‘H*
SV
AT = g
d J'p 1'_-'
i) Wi h



-~

g,

49,

N,

50.)

’fl'

Which machine did John 'Kay invent ?

(A) Spinning Jenny (B) Powerloom
(C) Flying shuttle (D) Steam engine
HeHIAT Hidia FFRT B geiaomg fawg e == 2

(A) 1929 (B) 1919

(C) 1918 (D) 1914

When did cooperative become the transferable subject of regional
governments ?

(A) 1929 (B) 1919

(C) 1918 (D) 1914
ST IcqET H U0l U i 8 2

JA)  3AifsI (B) T U9

(C) TRERT (D) FAREH
Which state is the largest producer of manganese ?

(A) Odisha (B) Madhya Pradesh

(C) Maharashtra (D) Karnataka

i 1 105122:30}‘ ' Page 26 of 4¢&




© fegiEs D) | o
Which of the following is a type of iron ore ?

(A) Lignite (B) Haematite

(C) Bituminous (D) All of these

I ST-A7Te aiREGe= e s ar == & 2

'
b

(a)  HBEE _(B) OdeH

".

(C)  TEEd (D) PN
On which river is the Bhakra-Nangal Project built ?

(A) Mahanadi (B) Satl_uj

{tC) Godavari (D) Krishna

53. P A FE 9T F geeT TRE 79 ¥ 50 9] GRma S e .

- (A) U "AY WPR 9AE] SR e
(B)  F0% qyHm] fEga &=
L (O TR S fEE S

(D) Fogdnd 9] Ega w5
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| fearae wRyr & aftrexor  fFE U FT Fo 99T & 2

(111]

Which of the following is the first indegenously constructed nuclear

power station of India ?

Rana Pratap Sagar Atomic Power Station

(A)

(B) Narora Atomic Power Station

(C) Tara.pur Atomic Power Station
(D) Kalpakkam Atomic Power Station

(A oE] FE EE - ® wATdg e G497
(c) a9 fEEga e w49 ﬁmﬁgﬁwﬁm

Which type of power plant is there at Manikaran of Himachal

Pradesh ?

(A) Nuclear power plant : (B) Geothermal power plant

(C) Thermal power plant (D) Hydel power plant

TR 9 g @fEae % §ie 9En S @ 2

& @) SZfeEE

(A) g4
(C)  TATIER \D) B -
-

l[ 1 105-{22;301' " Page 28 of 48




56.

[]]1|

With which mineral is natural gas found ?

(A i ]
i Uranium (B) Petroleum

(C) Limestone (D) Coal

LER gL p gl B B O G — ?

(A) =Rt B) U3

© Wem (D) g

Where was the iron and steel industry built with the help of Britain ?
(A) Bokaro (B) Rourkela

(C) Salem (D) Durgapur

FeTH WTE USST 1 WER W 3uh fw A siiRes & 2 @ o
(A) =R (B) EHIER

© T (D)  EYRYT

During which peasant movement was Vallabhbhai Patel given the

title of Sardar ?

(A) Bardoli (B) Ahmedabad
(C) Kheda (D) Champnran
| 1 105-(22/30) I i Page 29 otqé
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s8. o=t A @ faek i windt % A @ ) oen e 2
(A)  EL aegrerard (B)  HISAFT 1A wHeATH HAE
(C) @F 3T=ge PRI & (D) AT SR

Who among the fﬂﬂowing is also known as Frontier Gandhi ?

A C. Rajagopqhdéhaﬁ -
~(B)  Maulana Abul Kalam Azad ot O

' (C)  Khan Abdul Ghaffar Khan . 1
-




E {111

60 HER AT HIRT =1 Foin Bead som o

s S |
(A) =T Wi (B) A e
€y EHITa (D) - FAE

Who built Angkor Wat temple ?

(A) Chandragupta Maurya (B) Survavarman Il
(<) Samudragupta (D) Harshavardhan
Lm . AeRiE B s e ditas’ e femn 2
| Ay =ifE (B) 2t
o) | (D) TR
Who wrote the program ‘April Thesis’ of the Bolshevik party ?
(A) Stalin (B) Trotsky

(C) Lenin : (D) Garibaldi

62. Fa=g Al fEaw Y wEE A € ?

-
L ARSI YRT (B) 15
(€) 5 (D) 8™ =

{ 1105-@a2/30) | Page 31 of




When is Inurnn.tiann; Labour Day celebrated ?

(A) 1st May (B) 1st June

(€) Sth June (D) 8th March

63. ‘wErsTEnfEEt i anfaer’ fFa wea £ 2

\—/’?AT’_;EMW :

# ;"

o -

1"" "t"\ ﬁ.’t
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65

wdlE o i W e e e

() 1948 (D) 1954
When was the Wild-life Board of India formed ?
(A) 1950 (B) 1952
(C) 1948

-

(D) 1954

66. IIAT & SHF FAE ?
(a) =TS @ ==l

(C)  Tesier (D)  g9EA

Who is the father of Ayurveda ?
(A) Charak

(B) Dhanwantari

(C) Patanjali (D) Sushruta

67. ZEEIS I ITANT e ¥
[\_/'/

(A) ARG H (B) UEH o

\_/LCJ FOT H (D) <. #|

‘ 1105-2z2/30) l : Page 3§gqf 4




(A)  Malaria (B) AIDS

(C) Cancer _ (D). ' TH.
:/ﬁn & % = efveoh s o 2 ‘

@ = | (B)  HR S

© e % Dy T .




70.

eI i e e e o

(A TR ®) =R
(©) ST (D)  HiER
Whe?c is Kahalgaon thermal power plant ?

(A) Muzaffarpur (B) Barauni
(<) Bhagalpur (D) Katihar

T B FETEE e T ey 2

(A) qi-aaT B TH-F

(C) UE-a (D) 2L

Which is the most destructive wave of earthquake ?

(A) P-wave (B) S-wave

(C) L-wave (D) T-wave

= & | g 75 =1 ‘f9eR = O 8 STar € 2

AL B) =S
(C) Eacs

(D) €A

(111 ]
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Which of the following rivers is called the ‘Sorrow of Bihar' ?
(A) Ganga (B3} Gandak
(<) Kosi (2} Sone

73. ewm fEaw st gEi e ?

A)  FEmge (B) W=
(C) 1A (D)  ATTerRer

Taka is the currency of which country ?
(A) Singapore {BI: Iraq .

(C)  Nepal (D) E;' Bangladesh

Page 36 of ¢
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75. HRA W
T
(A)
(C)
ntral Cooperative Bank work ?
. (B) District level 5

(D) National level

3 %Wﬁ%ﬂmmmm&m% ?
@) e )
(D) -FHEH m‘-&
. IWh‘at type of loan Lis pr::md#d to the farmcﬁ by the Primary
Agricultural Credit Society '?
(A) Short term (B) Medium term

(C) Long term (D) All of these

i 1105-(22/30) ‘ Page 37 ¢

T




_Wﬁﬂmmmﬁﬁaﬁﬂuﬁaﬁﬁﬁmw

anfas s s w5 = e 7

(A) &N (B) I
(C) fat=agror AD} e

What is the third sector of economic development ?

(A) Agriculture (B) Industry

(C) Manufacturing (D) Service

HEATAT & ?
(A)  FasiERor qB) I
(C) AT | (o) T AW A
Removal of unnecessary con:l::m}.a and restrictions imposed by the
government is called e
.: l-'l-i.:

ki ’ ;Ii‘
(A) Privatization *'L* (B) Liberalization
(C) Globalization (D) None of these

i 1105-(22/30) i Page 38 of 4
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o SR Wﬂﬂwﬁ ¥
(A) I ) ey A,
(C) S ' D) =
Where is the headquarters of World Trade Organization ?
(A) New York (B) Washington D.C.

(C) Geneva (D) Rome

S T IUHRET ST ¥ A TR ST T W W € 2

(A) 34 (B) 35

(C) 32 (D) -36
How many State Commissions are currently working for consumer

protection ?

(A) 34 (B) 35

(I L is2 (D) 36

1105-(22/30)
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e - ¥ / SECTION - B

gfasrar / History
Y IV WY / Short Answer Type Questions
UvT W 1 @ 6 A% o IAAT #1 39 @ =l 3 9vAl & AT F
ueT & 7w 2 s Fraffea #1 3 x

Question Nos. ] to 6 are Short Answer Type. Answer any 3 questions.

gquestion earries 2 marks. I x2

i waﬁﬁ“*mén'{ﬂmﬁréﬂ%qrqﬁa:ﬁ HIFE 1 &0 38T FT G 2
What was the main objective of the government formed under

leardership of Kerensky after the March Revolution ?

2. @i g =8 enfass fifa w5 gmeon a6t w5 T 2




5 | : (111 ]
i & T & ot = st s

State any tw T '
¥ two reasons for the development of Factory system.

0. RE I i 2 e fe ot i g 2 2

Under what circumstances  was the Indian National Congress

established ?

ﬁé IANG °IH / Long Answer Type Questions

Oy §ET 7 v 830 IAUT £ 3R W FHl UF FT IOV T HAF VA F

fore 4 siw freiiRa &1 4=

Question Nos. 7 and 8 are Long Answer Type. Answer any one of them. Each

guestion carries 4 marks. ]l wqg=4

=]

SHrsh foretr 3 RRE TSR SRR AR & 389§ wecaqul i s 2

4

How did English education play an important role in the rise of

Indian nationalism ?

8 =t i & aE F1 e w7 -4
Discuss the impact of the Russian Revolution.

i 1 105-:22;301_[ Page 41 of 48




(B | T

M= fas= / Political Science

™Y INIT Uy / Short Answer Type Questions

T wer o § Izawagswﬁw#r;aﬁ#!%rrﬁ?zgﬁé?yﬂ?a'r
WFT & fore 2 3% Fraffie &1 20
Question Nos. 9 to 12 are Short Answer Type. Answer any 2 questions.

gquestion carrnies 2 marks. e

9 it favrss @ smgsr a7 Faua @ ?
What do you mean by social division ?
10. R o & 3| & &iar #i e |
Write the sources of income of Municipal Corporation.
1 e mEter § asEitaE g @ g gl @ 2

What is the role of a political party in the formation of pub
. 4
A

opinion ?

2. st i s % @ S T
4 - |

State two features of Indian Federal system.

A f 1 105-(22/30) | Page 42 of




e 3w
_ m 999 / Long Answer Type Questions

gy WEAT 13 QF 14 3 g # @ faret ; |
& frr « SRR | 3H U T IAT T TADH AT

f 111]

1 x4 =4

Question Nos.
0s. 13 and 14 are Long Answer Type. Answer any one of them.
FEach question carries 4 marks. X T wy

HHT a1 TN U & Hedl % d@ade 1 e Uh HeEE el 8 ?

13:

4

How does the Federal system help in promoting the values of national
unity ?

14. __,mﬁﬁnm%mmmﬁnmﬁﬁﬁﬁﬁ% ?

How does coalition politics affect democracy ?
eIITEA /| Economics
g I WY / Short Answer Type Questions

Wy WEAT 159 zsaﬁﬁgaﬁﬁw#fﬁﬁ#ﬁﬁ?zmﬁﬁm#: o
wvT & forg 2 s faraifa &1 2x2=4
Question Nos. 15 to 18 are Short Answer Type. Answer any 2 questions. Each

question carries 2 marks.

15, anfass faere o enfas gfg 3 et = T
--._.--"'"'.‘!

2x2=4

2
Explain the difference between economic development and economic -

6. I AT woTel | SIS a4 AEEE ¥ 2 5

What do yvou mean by Core Banking System ?
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17. 37T =7 T 3\ Gres e %7
N 3

Establish the relationship between income and poverty.

18, @4 WerHAl THE ¥ 19 F1 THAD € ?
What do vou understand by self-help group 7

#5399 W99 / Long Answer 'fype Questions

: a
¥ §&IT 19 UF 20 FF T §1 3 T fEET vE BT IV 3| HEAF AT
F forg 4 AF uiRa &1 1 x4 =49
Question Nos. 19 and 20 are Long Answer Type. Answer any one of them.

Each question carries 4 marks. 1l x = %

19 FaftEor % g2l @ fawr 9 fEqfE@w) 4%
Write in detail the components of globalization.

20 w@?-maﬂmiaﬁm:waﬁmmaﬁmﬁfuﬁﬁaﬁaﬁa 4
. A

State the meaning of national income. Discuss the main methods of

its calculation.
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f 11
| M“ Type Questions
- *;W#Hamf*m#rm
vy & farg e 4
A 2 o o é ju. 3x2=6
o r
Sh "  Answer Type. Answer any 3 questions. Each
‘ ’ 3#2"6
= 2
S‘ . w Quuﬁhmmmghm?
: 92 LA -~-=_ ._tm-mt o 2
Name two n on ctnlhctninhra.lu Y
2 _.’ ‘a
| R T w3 tﬁﬁmt? 2
Huw:awlar energy produned?
wmwt ? %
What isBmdiverdty? l &3
i'
S 9 | mmuﬁmmt 2 4 : 2

Whn.tdoyﬁu'i':ncan h%d%n\ty of population ?
F ' 26. mﬂmﬁmﬁamﬁuﬁﬁmﬁﬁmﬁﬂmﬂW1 2

ﬁnﬂnn any two factors affecting cropping intensity.
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= Iwa W / Long Answer Type Questions

YT WEAT 27 0d 28 34 Iwdita #1 gad @ fEel vE wT IAv 31 AAE
# 1w 4 s Fraifea 1 I1x4=4

Question Nos. 27 and 28 are Long Answer Type. Answer any one of them.

Each question carries 4 marks. ' I x4=4
27. Had @& #1 Euren w1 s3ner S| 4

Explain the concept of sustainable development.

28. &R wifd 2 2 YRAT $H W @S T4 99T T 2 4

What is Green Revolution ? What was its impact on Indian

agriculture ?
SM9ET S+ / Disaster Management
g 39T U9 / Short Answer Type Questions i
o e 20% 32w wg AT &1 FT @ Pt 2 wvAF % s | A

gy & forw 2 3 fFreaiRa &1 2x2=4
Question Nos. 29 to 32 are Short Answer Type. Answer any 2 questions. Each
question carries 2 marks. : . 2x2=4
)¢ | S F 1 SR E 2 2
00, WIEhfdes 3TUST AR HES ST r
What is the difference between natural disaster and manmade .‘
disaster ? R,
- | 1105-(122/30) | Page 46 of 48




stor uee the

-_l' ¥

.;df&ﬁb._tatiﬁg-et{cct of Tsunami.






